LI: To find a pattern in a number sequence.
I will be successful if…
	I can read the question carefully so I know what it is asking for.
	

	I systematically solve a problem.
	

	I can show my working out
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Roman and Aisha have birthdays on the same
day. On their birthday this year, Roman

said: “Aisha is four times as old
as me, In three 72«1‘5' time,

he will be three times as

old as me.”

How old will Aisha be when
she is twice as old as Roman?

Julie said to her friend:
“Yesterday Sarah was still 10,
Her 13th birthday will be next year.”

When is Sarah’s birthday?
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Roman and Aisha have birthdays on the same
day. On their birthday this year, Roman

said: “Aisha is four times as old
as me, In three 72«1‘5' time,

he will be three times as

old as me.”

How old will Aisha be when
she is twice as old as Roman?

Julie said to her friend:
“Yesterday Sarah was still 10,
Her 13th birthday will be next year.”

When is Sarah’s birthday?
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Aisha is 4 years older than Riclk,
and Luca is twice as old

as Aisha.

Three years ago, the sum

of their ages was 35,

How old are Aisha, Rick and Luca now?
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Aisha is 4 years older than Riclk,
and Luca is twice as old

as Aisha.

Three years ago, the sum

of their ages was 35,

How old are Aisha, Rick and Luca now?
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If Josh was ohe year older,
he would be half the age of
his 34 year old Auntie Jean,

How old is Josh now?
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If Josh was ohe year older,
he would be half the age of
his 34 year old Auntie Jean,

How old is Josh now?
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Roman is 4 times older than
his niece, Sarah.

Ten years from now,

he will be twice as old as

she will be.

How old are Roman and Sarah now?
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Roman is 4 times older than
his niece, Sarah.

Ten years from now,

he will be twice as old as

she will be.

How old are Roman and Sarah now?
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Aisha’s mum is 9 years older
than Julie’s mum,
In 7 years, the sum of

their ages will equal 93.

Find both of their ages now.




